2006-07 Arkansas Governor’s Quiz Bowl Association
Practice Game 11

Round 1 Toss Ups

1. Struck down by the Supreme Court in Clinton v. City of New York, what power given to the president by Congress in 1996 allowed the president to veto certain items in appropriations bills?

ANSWER: line item veto
2. (CALCULATION) What is the sum of the following infinite geometric series: 8 + 4 + 2 + 1 + ½ + …?

ANSWER: 16
3. Separated from Nova Scotia and New Brunswick by the Northumberland Strait, name this Canadian maritime province with capital at Charlottetown.

ANSWER: Prince Edward Island
4. What one word term describes a mathematical function that is symmetric with respect to the origin?

ANSWER: odd
5. The story of two drifters whose only desire is to get a little place and live off the fat of the land is what John Steinbeck classic in which George promises Lennie he will get to tend the rabbits.

ANSWER: Of Mice and Men
6. To balance it, the product of the object’s mass and its distance from the fulcrum on each side must be equal.  What is this type of simple machine often used for lifting heavy objects?

ANSWER: lever
7. (CALCULATION) What is the second derivative of the expression 3x4 – x3 – 7x2 + 9x – 11 (3 x to the fourth minus x cubed minus 7 x squared plus 9 x minus 11)?

ANSWER: 36x2 – 6x – 14 (36 x squared minus 6 x minus 14)
8. Based on a real-life incident recounted to the author, what 1712 mock-heroic poem features The Baron, Belinda, and a group of sylphs guarding a woman’s hair?

ANSWER: The Rape of the Lock
9. Consisting of both the crust and the rigid upper mantle, what is the outermost layer of the earth?

ANSWER: lithosphere
10. He said, “I’d rather be right than be president,” and thus lost three presidential elections.  Name this “Great Compromiser” who crafted the Compromise of 1850.

ANSWER: Henry Clay
11. Though the actual culprit is an orangutan, what murder mystery featuring Auguste Dupin by Edgar Allan Poe is one of the first detective stories?

ANSWER: “The Murders in the Rue Morgue”
12. (CALCULATION) Jeff sees two jars of peanut butter at the grocery store: a 12-ounce jar for $1.68 and a 16-ounce jar for $2.72.  By how many cents per ounce is the 12-ounce jar the better deal?

ANSWER: 3 cents per ounce
13. Ruled by elected doges /DOH zhihz/, what city-state that was home to Marco Polo was an Italian naval power and today is known for its canal system?

ANSWER: Venice
14. Many of the animals that reside here are tolerant of low oxygen levels and either very hot or very cold temperatures.  Name this lowest level of a body of water, located below the littoral /lih TOHR ruhl/ zone.

ANSWER: benthic zone
15. What American naturalist author had difficulty publishing his controversial first novel Sister Carrie but later achieved commercial success with An American Tragedy?

ANSWER: Theodore Dreiser
16. The offspring of Echidna and Typhon, he was drugged by Aeneas /uh NEE uhs/ and put to sleep by Orpheus.  Name this monster who usually ensured that the dead could not leave and the living could not enter, the three-headed dog that guarded the gates to the underworld.

ANSWER: Cerberus
17. Aluminum hydroxide, ammonia, and magnesium hydroxide are examples of what type of compound that only partially ionizes in solution?

ANSWER: weak base (prompt on either word alone)
18. What geometric figure consists of the set of points in three-space that are a fixed distance away from a given point?

ANSWER: sphere
19. The author of Egmont, Gotz von Berlichingen /GAHTZ vahn bayr LIH kihn zhehn/, and The Sorrows of Young Werther /VUHR tuhr/, name this German writer of Faust.

ANSWER: Johann Wolfgang von Goethe /GUHR tuh/
20. Give the electron configuration of an atom of the element fluorine.

ANSWER: 1s22s22p5 (1 s 2 2 s 2 2 p 5 or 1 s 2 2 s 2 p 5; the last 2 is optional)
Round 2 Toss Ups

1. (CALCULATION) Determine the amplitude of the function f(x) = 2 + 3 tan (4x) (f of x equals 2 plus 3 times the tangent of 4 x).

ANSWER: infinite
2. Born a slave around 1743, what man led the only successful slave revolt in history in the second independent nation in the Americas, Haiti?

ANSWER: Toussaint L’Ouverture /too SAHNT loo vayr TUHR/
3. It was originally defined in terms of the electrolytic deposition rate of silver.  What is this base SI unit of electric current equivalent to 1 Coulomb per second?

ANSWER: ampere /am PEER/
4. Appropriately, it is derived from the Greek words for sharp and dull.  What is this figure of speech that pairs two ordinarily contradictory terms together to make a point?

ANSWER: oxymoron
5. (CALCULATION) Find all the solutions to the following equation: x2 – 12x + 35 = 0 (x squared minus 12 x plus 35 equals zero).

ANSWER: x = 7 and x = 5 (must have BOTH answers)
6. Some of this nation’s cities include Rustavi /roo STAH vee/, Kutaisi /koo TYE see/, and Batumi /buh TOO mee/, and it has faced a separatist movement from the South Ossetians /oh SHE shunz/.  Name this former Soviet republic with capital at Tbilisi /tuh BLEE see/.

ANSWER: Georgia
7. This stadium has hosted the 1994 and 2000 Super Bowls and will host the 2007 NCAA Men’s Basketball Championship.  Name this dome that hosts the NFL’s Falcons.
ANSWER: The Georgia Dome
8. The co-author of the screenplay for Brokeback Mountain, who is the Western author of The Last Picture Show and the Pulitzer Prize winner Lonesome Dove?

ANSWER: Larry McMurtry
9. Located near Jersey City, New Jersey and officially closed in 1954, what facility in New York harbor opened in 1892 and processed more than 12 million immigrants?

ANSWER: Ellis Island
10. It begins with ligands /LIH guhndz/ clustered in regions of the membrane called coated pits.  After binding, a signal is sent through the membrane causing vesicles to form.  Name this type of endocytosis that enables the cell to acquire bulk quantities of specific substances.

ANSWER: receptor-mediated endocytosis
Round 2 Bonus Questions

1. Identify these endangered species from descriptions.

Bamboo is the primary food of this bear native to central and southern China.

ANSWER: giant panda
This marine mammal is believed to be the largest animal ever to have lived on earth.

ANSWER: blue whale
The most arboreal of the great apes, they have reddish-brown hair and are native to Malaysia and Indonesia.

ANSWER: orangutans

Contrary to popular belief, only one of these members of the weasel family has been positively identified in Michigan in the last 200 years.

ANSWER: wolverine
2. Name the U.S. President who won the election held in each of these years.

1912

ANSWER: Woodrow Wilson
1852

ANSWER: Franklin Pierce
1928

ANSWER: Herbert Clark Hoover
1888

ANSWER: Benjamin Harrison
3. Name these characters from Lost.
A recent lottery winner, he is convinced he and the magic numbers are cursed.
ANSWER: Hurley (also accept Hugo) 
One of the group’s leaders, he is a doctor who had planned to bury his father before the crash.
ANSWER: Jack
He had reunited with his son Michael before the crash and lost him again on the island.
ANSWER: Walt
A former cripple, he found his strength and meaning amidst the island’s mysteries.
ANSWER: Locke
4. Identify each of these Shakespeare plays from brief descriptions.

This tragedy tells of the love affair between a Roman triumvir and an Egyptian queen.

ANSWER: Antony and Cleopatra
The title character plans to divide his kingdom among his three daughters at the start of this play.

ANSWER: King Lear
Bianca is not allowed to marry until Katharina does in this comedy.

ANSWER: The Taming of the Shrew
Antonio, Alonso, and Ferdinand are all shipwrecked and separated in the title storm.

ANSWER: The Tempest
5. (extra) (CALCULATION) Give all solutions for x to each of the following equations.
3x + 4 = 19 – 2x

ANSWER: x = 3
|4x – 3| = 5 (absolute value of quantity 4 x minus 3 equals 5)

ANSWER: x = 2 and x = -0.5 or x = -½ (negative one-half) (must have BOTH answers)

|x + 2| = 3 – x (absolute value of quantity x plus 2 equals 3 minus x)

ANSWER: x = 0.5 or x = ½ (one-half)

|2x – 5| = |x - 4| (absolute value of quantity 2 x minus 5 equals absolute value of quantity x minus 4)

ANSWER: x = 1 and x = 3 (must have BOTH answers)
Round 3 Lightning Rounds
Battles
Given a battle and the year it took place, name the war of which it was a part.

1. 1944, Battle of the Bulge

ANSWER: World War II
2. 1777, Battle of Saratoga

ANSWER: American Revolution (accept equivalents)

3. 1620, Battle of White Mountain

ANSWER: Thirty Years’ War
4. 490 B.C., Battle of Marathon

ANSWER: Persian-Greek Wars
5. 1914, First Battle of Ypres /EE pray/

ANSWER: World War I
6. 1429, Battle of Orléans /ohr lay AHN/

ANSWER: Hundred Years’ War

7. 1805, Battle of Austerlitz

ANSWER: Napoleonic Wars

8. 1953, Battle of Pork Chop Hill

ANSWER: Korean War
9. 1813, Battle of Lake Erie

ANSWER: War of 1812
10. 1905, Battle of Tsushima /soo SHEE muh/

ANSWER: Russo-Japanese War
11. (extra) 1862, Battle of Shiloh

ANSWER: American Civil War (accept equivalents)

Round 3 Lightning Rounds
Human Body
Identify the part of the body to which each statement refers.

1. Secretes prolactin, oxytocin /ahk sih TOH sihn/, and growth hormone

ANSWER: pituitary gland

2. Contains expansion folds called rugae /ROO gay/

ANSWER: stomach
3. Connect the kidneys to the bladder

ANSWER: ureters

4. Sperm are stored here before entering the vas deferens

ANSWER: epididymis
5. Part of the brain that coordinates skeletal muscle movement

ANSWER: cerebellum
6. Connects the larynx to the bronchi

ANSWER: trachea (accept windpipe)

7. Largest artery in the body

ANSWER: aorta
8. Tube that leads from the uterus to the exterior of the female body

ANSWER: vagina
9. Produces lipase and amylase and secretes insulin

ANSWER: pancreas
10. Endocrine gland in the neck that regulates metabolic rate

ANSWER: thyroid gland
11. (extra) Largest and strongest chamber of the heart

ANSWER: left ventricle
Round 3 Lightning Rounds
Starts with “H”
Identify each of the following.  All correct answers will begin with the letter H.

1. The Khyber Pass runs through this mountain range in Afghanistan

ANSWER: Hindu Kush
2. Much of Greek mythology is based on his work Theogony
ANSWER: Hesiod /HEH zee uhd/

3. This rule of chemistry dictates the order in which an atom’s orbitals must be filled

ANSWER: Hund’s Rule

4. The Assyrians conquered these Iron Age pioneers in Mesopotamia

ANSWER: Hittites

5. A psychological state of altered awareness

ANSWER: hypnosis
6. This father of a Supreme Court Chief Justice wrote “The Chambered Nautilus”

ANSWER: Oliver Wendell Holmes, Sr.

7. Polyatomic ion consisting of one atom of each of oxygen and hydrogen

ANSWER: hydroxide (do NOT accept hydroxyl)
8. William the Conqueror defeated this last Anglo-Saxon king in 1066

ANSWER: Harold II (accept Harold Godwinson)
9. It describes an organism with a dominant and recessive gene for a trait

ANSWER: heterozygous
10. Leader of the Beer Hall Putsch /POOCH/

ANSWER: Adolf Hitler
11. (extra) Guatemala, El Salvador, and Nicaragua border this Central American country

ANSWER: Honduras
Round 4 Toss Ups
1. (CALCULATION) Determine the measure, in degrees, of an exterior angle of a regular polygon with 45 sides.

ANSWER: 4°
2. Craters of the Moon National Monument and Hells Canyon are among the natural sites in what U.S. state, nicknamed the Gem State, that ranks first in silver production and also grows about 12 billion pounds of potatoes each year?

ANSWER: Idaho
3. The author of plays such as Enrico IV and Right You Are If You Think You Are, name this Italian absurdist who wrote Six Characters in Search of an Author.

ANSWER: Luigi Pirandello
4. Identify the work that says that men’s lives are by nature “nasty, brutish, and short,” a work of political philosophy by Thomas Hobbes.

ANSWER: Leviathan
5. Originating as “Jerry’s Guide to the World Wide Web,” it lasted for many years as a directory of web sites organized in a hierarchy.  Name this search engine and e-mail provider, ranked #2 behind Google.

ANSWER: Yahoo!
6. “If a man does not keep pace with his companions, perhaps it is because he hears a different drummer.”  So said what American transcendentalist, the author of Walden and “Civil Disobedience?”

ANSWER: Henry David Thoreau
7. It can be done easily using origami but, as it would require taking the cube root of an arbitrary complex number with absolute value 1, is impossible using a compass and straightedge.  What is this impossible construction involving, for example, constructing a 20° angle from a 60° angle?

ANSWER: angle trisection (accept trisecting the angle or other equivalents)
8. Conflict began in February, 2003, in what region in which non-Baggara /buh GAH ruh/ peoples are fighting against the Janjaweed /zhahn ZHA wihd/, a militia group supported and aided by the Sudanese government?

ANSWER: Darfur /dahr FOOR/
9. Sent from Key West to Havana in January 1898, what 6,682 ton battleship exploded in Havana harbor on February 15, 1898, eventually leading to war with Spain?

ANSWER: U.S.S. Maine
10. A sealed, oxygen-pressurized chamber containing a sample is put into an insulated, water-filled container.  An electric current is sent through a wire to ignite the sample, and the temperature difference determines the amount of heat released.  This is the method for using what device?

ANSWER: bomb calorimeter
11. He used the word “thrums” to describe his first novels before writing the plays What Every Woman Knows and The Admirable Crichton.  Name this author who used the Llwelyn-Davies family as the basis for his work Peter Pan.

ANSWER: Sir James Matthew Barrie
12. (CALCULATION) What is the radius of the circle with the equation x2 – 6x + y2 + 12y = 4 (x squared minus 6 x plus y squared plus 12 y equals 4)?

ANSWER: 7
13. He won a posthumous Pulitzer Prize in 1976 upon the re-discovery of his opera Treemonisha /tree MAH nih shuh/.  Name this African-American, the “King of Ragtime,” famous for the Maple Leaf Rag.

ANSWER: Scott Joplin
14. In mammals, it contains small amounts of salt, vitamin D, protein, and fructose, and a viscous mucus is added to it by the Cowper’s glands.  What is this organic fluid produced near the testes that generally includes sperm?

ANSWER: semen
15. Revoked by the Edict of Fountainebleau /FAHN tehn bloh/ and applying in certain enclaves such as La Rochelle, what 1598 edict by Henry IV granted substantial religious freedom to French Protestants?

ANSWER: Edict of Nantes /NAHNT/
16. (CALCULATION) What are all the solutions to the following equation: 1/(x – 2) = 6/(x2 – 4) (1 over quantity x minus 2 equals 6 over quantity x squared minus 4)?

ANSWER: x = 4
17. Now on display at the Philadelphia Museum of Art, this cubist painting caused much of the stir at 1913’s Armory Show.  What is this mostly gray, black, and white painting depicting motion by Marcel Duchamp?

ANSWER: Nude Descending a Staircase, No. 2
18. It appears somewhat spongelike under a miscroscope and is related to Creutzfeldt-Jakob /KROYTZ fehlt YAH kuhb/ disease, which occurs when a prion protein is changed into an abnormal form.  Name this disorder, also known as bovine spongiform encephalopathy /ehn seh fuh LAH puh thee/.

ANSWER: mad cow disease (accept bovine spongiform encephalopathy early)
19. With enormous oil revenues, this sheikdom and city on the Persian Gulf has one of the highest per capita incomes in the world.  The largest of the former Trucial States, this is what capital and largest of the seven emirates that comprise the United Arab Emirates?

ANSWER: Abu Dhabi /AH boo DAH bee/
20. Name the novel about an Irish orphan named O’Hara who is raised in India and searches for the River of the Arrows and eventually enters the English Secret Service, a work by Rudyard Kipling.

ANSWER: Kim
Extra Toss Ups
1. One of five members of the Fireside Poets, this descendant of Anne Bradstreet wrote The Autocrat of the Breakfast Table.  Name this poet who helped preserve the U.S.S. Constitution with his poem “Old Ironsides.”

ANSWER: Oliver Wendell Holmes, Sr.
2. A 1327 sighting of a woman named Laura inspired what Italian poet of the early Renaissance to compose the 366 poems collected in the Canzoniere /kan zahn ee AYR/, or song book?

ANSWER: Petrarch
3. This African river borders two countries that share its name.  Those countries’ capitals, Brazzaville and Kinshasa, both lie on what second longest river in Africa?

ANSWER: Congo River
4. (CALCULATION) In slope-intercept form, what is the equation of the line with a slope of 2 and an x-intercept of 5?

ANSWER: y = 2x – 10
5. Its commander, Captain Henry Wirz /WUHRTZ/, was later executed for war crimes.  13,000 Union prisoners died due to the deplorable conditions at what Confederate prison in Georgia?

ANSWER: Andersonville
6. Human blood groups are an example of what genetic principle in which an individual with both alleles for a trait shows both phenotypes?

ANSWER: codominance (do NOT accept incomplete dominance)
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